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| Semester 3 Year LL.B. /IV Semester 5 Year B.A. LL.B. (Maj. Min. System)/
B.B.A. LL.B./B.Com. LL.B. Examination, March/April 2024 (Odd Sem.)

CRIMINAL LAW -1 : INDIAN PENAL CODE

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.

Q. No. 1.

Q. No. 1.

Q. No. 1.

Q. No. 1.

a)

b)

2. One essay type question and one short note/
problem.

3. Figures to the right indicate marks.

4. Answer should be written either in English or
Kannada completely.

UNIT -1

Explain in detail about variations in criminal liability. Marks : 1x10=10
STOIPE BRBMOTODYT [ TYANTTY, DFTWON eOR.
OR/&5w

Explain the extent of liability for acts done in furtherance of
common intention with decided cases.

TRRRT, YUBEBNP0T [REOE T NVT Q00E BREMWOBOIT,
ATFOB W, FCLONERODN TOR.

Write short note. Marks : 1x6=6

OFO TS WBoD.

Capital punishment.
ROTED TOB.
OR/eg=o

Mens rea.

STOIRT WA,

P.T.O.



4005/5056/7020/6020 2- 00 S 0 0
UNIT =1

Q. No. 2. a) What is abetment ? Explain the liabilities of abettor. Marks: 1x10=10
WO Q0TTEL 2 B TTS BRBMWOTNTIY, DO,
OR/e53e0

Q. No. 2. a) What is right of private defence ? When does it extents to
causing death ?

8393N "’dﬁsa aﬁo QROTTEZD ? O3RN VT mwaglo&eo
mmmdrﬁ &~®m3:§ ?

Q. No. 2. b) Write short note/solve the problem :
OFO WTEP WO/ AT, O WRR.
Criminal conspiracy. Marks : 1x6=6
OTVTIRT WHPR0.
OR/egs
Q. No. 2. b) ‘A’ a doctor in good faith communicates to a patient his
opinion that he can’t live patient dies by shock. Decide the
liability of ‘A’.
‘2 Q0w dd waﬁobood TreN WROBYRY, 0T Beend

89RO, @mé@od Seen TOTD TROTVTVS. ‘@ oD
mwmbéoﬁm O,

UNIT —1li

Q. No. 3. a) Whatis force ? When does it become criminal force, illustrate
your answers with illustrations. Marks : 1x10=10

WO DOTITETD ? 03N BT WT/TIHT WO T, 03ReNHINIIBT,
ROUITITY, YVTIITOHBAGRODN DBLETOR.

OR/egs

Q. No. 3. a) What is murder ? When it is not a culpable homicide ?
BRS Q0TTERD ? O3TON BT IR 3553‘; SRR ?
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Q. No. 3. b) Write short note/solve the problem :
PO T3 wdo&:@/xmﬂzsojasg{ WRA.
Assault. Marks : 1x6=6
GO
OR/egs

Q. No. 3. b) A lawfully arrested by Z a bailiff ‘A’ is excited to sudden
and in violent passion by the arrest kills Z. Explain the
liability of A.
Z 20w WUOFI TIROWToN A ST, BINO [REB.
QTWOOTW A [ 352@@ emcfer? woéo em@ 3TN Z sm
AOCWROZS. A S msaméﬁojom DFOY.

UNIT - IV

Q. No. 4. a) Define and distinguish between criminal misappropriation
and criminal breach of trust. Marks : 1x10=10

OTTINT  TONFICIRENR DB BTTIRT emeeri@m
339,809, DR GASICS) wéeéf\)

OR/egs

Q. No. 4. a) Define the offence of rape and explain custodial rape.
WOZVTT @wmz;ws% WYX WBY  ROTOF DY 0D
WTITYTRS), VIOR.

Q. No. 4. b) Write short note/solve the problem :
OFPO LTI wdo&a@/:dmﬂsojoag{ WERA.

Dacoity. Marks : 1x6=6
BTN,

OR/eges

Q. No. 4. b) A threatens to publish a defamatory libel concerning Z,
unless Z gives him money. Z gives money to A. What offence
A has committed ?
A DZ IR D IR B0 BREATT QP Wit BRTTIRCIMIEOZS
ST BIURFES 20w FEODT!S. Z R Beomsy

éraafoagé A c30 o BHTITDBIY, BRRWIS ?
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UNIT -V

Q. No. 5. a) Whatis criminal trespass ? Explain different kinds of criminal
trespass. Marks : 1x10=10

OTOIRT  ©EF,WI  R0TTETO 7 WTTIT 887,000
B,TOTNIIY, DeS0R.

OR/&ge

Q. No. 5. a) Explain briefly the law relating to offence of marriage.
&m%@d TOWODAT HTTIPNT QATOT® ToOID Eborbwomﬁagl
NDOA.

Q. No. 5. b) Write short note/solve the problem :
QTR @333;95 wdosaa/ﬁdaﬂéoja@{ WRA.

Write a short note on Criminal intimidation, insult and

annoyance. Marks : 1x6=6
BTORT  POIRETITIT, STINT I3 W0WINT wrﬁ\ OFO
€3 €3 WBOD.

OR/egw»

Q. No. 5. b) A signs his own name to a bill of exchange intending that it
may be believed that bill was drawn by another person of
the same. Decide what offence A has committed ?

© D IFT BB BIOFE, 2,08 DV TIF Ao TIBIY.
08 wNS ied o BPE IF HROS Wedny wE Ao
BoBTEYTON FOWRBOBHBLRNTOBE. &9 T 05T BTIITD,
SRR ?




